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Class @ .o School: ...
Father's Name : ..., Father’s Occupation : .........ccooeiiiiiiiiiiiiiiiiiiieeee,
Mother’s Name : ........ooiiiiiiiiiiiii i, Mother’s Occupation : .......cccooeeeiiiiiiiiiiiiiiiiiieeeeen.

Categories : Gen [ | oBC[ | sc[ ] sT[ ]

DateofBith: [ [ | [ [ || | | [ |

Father’s Contact No : | | | | | | | | | | |

Home/Mother’'s Contact No. : | | | | | | | | | | |

WhatsAppNo.: | | | [ | | | [ [ | |

Basic Instructions:

i.  Ensure that your personal data has been entered correctly.

ii. Immediately after opening the test booklet verify that all the pages are printed properly and are in
order. If there is a problem with your test booklet, immediately inform the invigilator. You will provided
with the replacement.

iii. All questions in are compulsory.

iv. For every correct answer you will be awarded with 4 marks and for all incorrect answer 1 mark will be
deducted.

v.  Directions for answering the questions are given. Read those directions carefully
and answer the question by circling the bubble in the OMR Sheet Provided to you. Test booklet/OMR
Sheet will be submitted at the end of the examination.

vi. Follow the instructions given by the invigilator. Students found violating the instructions will be
disqualified.

vii. Rough work can be done separately or on the Question paper.

viii. Please fill the bubbles in OMR sheet with Blue or Black pen only.

ix. Do not tear the question paper or OMR sheet else you will be disqualified in the examination.
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CLASS-4 MATHEMATICS

7000+200 is
(A) 9000

A grocer sells 50 apples and 29 oranges. How many fruits does he sell in all?

(A) 59

When 1685 is added to 2313, the digit in the tens place of the answer is

(A) 8

(B) 2700

(B) 79

(B)3

Write and tick the correctone? 42 +7? =7

(A) 4

18 trees 6 rows. How many trees is each row?

(A) 4

200 ducks 5 ponds. How many ducks in one pond?

(A)200+5=4

(B) 2

(B)3

(B) 200 + 5 = 40

(C) 7200

(C) 25

()9

()5

(€)2

(C)200 + 5 = 20

Divide the greatest 3-digit number by 3. The answer is

(A) 33

20 books. 5 books for each girl. How many girls.

(A) 20

Tick the greatest one
(A)9/12

3/4 of 12 is —
(A)19

(B) 30

(B) 4

(B) 3/12

(B)6

Tick the fraction for three- fourths

(A) 3/4

The equivalent fraction of 3/4 with denominator 207

(A) 15/20

Aline segment has
(A) one

How many horizontal lines are there in letter ‘E’?

(A)1

The globe has a
(A) curved

(B) 6/4

(B) 18/20
end-points

(B) two

(B)2

surface
(B) flat

Which of these numbers have more tens?

(A) 879

(B) 789

The place value of 2 in 2548 is

(A) 200

(B) 20

(C)3

(C)3

(C) 8/12

(C)12

(C) 12/4

(C) 20/20

(C) three

(C)3

(C) plane

(C) 997

(C) 2000

(D) 7020

(D) 35

(D)5

(D) 200 715 = 30

(D) 333

(D) 2

(D) 6/12

(D) 2/3

(D) 15.5/20

(D) four

(D)4

(D) rough

(D) 907
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The sum of the place value and face value of 5 in 2548 is
(A) 500 (B) 550 (C) 055

The sum of the largest 3-digit number and the smallest 2-digit number is
(A) 1090 (B) 1900 (C) 9001

The most appropriate unit to measure distance between two cities is
(A) kilometer (B) centimetre (C) metre

Compare and choose the correct sign. 705 cm () 7m 50 cm
(A)< (B)= (C)>

(D) 505
(D) 1609
(D) millimetre

(D) +

Mother bought some butter from the supermarket. The weight of the butter was 2

(A)L (B) cm (C) kg (D) degree
How many centimetres are there in one metre?

(A) 10 (B) 100 (C) 1000 (D) 10000
Tick the correct one and fill: 1L = ?mL

(A) 100 (B) 1000 (C) 10,000 (D) 1,00,000
Tick the correct ascending order-

(A) 9L, 4mL, 18L (B) 800g, 3kg, 50009 (C) 6000cm, 500cm, 8km (D) 800m, 90cm, 6km
Indian currency is measured in

(A) Rupee (B) Dollar (C) Pound (D) Euro

2 paise in figure is

(A) 2p (B) Rs.2 (C) Rs.25 (D) Rs. 20

Symbol of Paise is
(A) & (B)$ ©C)p

Subtract Rs.2250 from Rs.5250
(A) Rs.3000 (B) Rs. 2000 (C) Rs.100

five rupees coins makes Rs.20
(A)3 (B)4 (C)5

If we multiply O by any number, what product do we get?
(A)O B)1 (C) same

Choose the correct option 728 x 5
(A) 1240 (B) 6245 (C) 3640

14 x 2 thousands are
(A) 28 hundreds (B) 28 tens (C) 28 ones

5 x 8 tens equals
(A) 40 (B) 4000 (C) 4

(D) None of these

(D) Rs.10

(D) 6

(D) None of these

(D) none of these

(D) 28 thousands

(D) 400
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35. 8 bikes. 2 people on each like. How many people?

(A) 24 (B) 32 (C)16 (D) 8
36. How many oranges are there in a dozen?

(A)12 (B) 10 (C)6 (D) 16
37. The smallest 4-digit number is

(A) 1111 (B) 1100 (C) 1001 (D) 1000
38. Tick the correct ascending order

(A) 5492, 3813, 7600, 5290 (B) 1500, 6794, 8030, 9999

(C) 2015, 1058, 9358, 7042 (D) 7042, 1058, 3813, 2026
39. Question: In which number does the digit 8 have the greatest value?

(A) 1580 (B) 9358 (C) 7852 (D) 8350
40. 100 less than 9825 is

(A) 9625 (B) 9725 (C) 9925 (D) 9325
41. Which number is exactly divided by 2?

(A) 99 (B) 97 (C) 9 (D) 90
42. has no predecessor.

(A)O B)1 (C)10 (D) 100
43. 1f 200 is subtracted from 800, the difference will be

(A) 1000 (B) 820 (C) 600 (D) 320
44. Which of the following represents the time shown on the clock?

(A) 11:15 (B) 11:30 (C) 11:00 (D) 11:20
45. How many months have 31 days?

(A)3 (B)4 (C)5 (D)6
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